
Relations Inverses (H)
Remplissez les espaces blancs.

25 × 19 = 475 13 × 23 = 299 18 × 22 = 396 18 × 13 = 234
19 × ___ = 475 ___ × 13 = 299 22 × 18 = ___ 13 × 18 = ___
___ ÷ 19 = 25 ___ ÷ 23 = 13 ___ ÷ 22 = 18 234 ÷ 13 = ___
475 ÷ ___ = 19 299 ÷ ___ = 23 396 ÷ ___ = 22 234 ÷ ___ = 13

17 × 22 = 374 25 × 15 = 375 12 × 20 = 240 25 × 25 = 625
___ × 17 = 374 ___ × 25 = 375 20 × ___ = 240 25 × ___ = 625
374 ÷ 22 = ___ 375 ÷ ___ = 25 240 ÷ 20 = ___ 625 ÷ ___ = 25
374 ÷ ___ = 22 375 ÷ 25 = ___ 240 ÷ ___ = 20 ___ ÷ 25 = 25

14 × 20 = 280 17 × 22 = 374 16 × 13 = 208 14 × 23 = 322
20 × 14 = ___ 22 × ___ = 374 13 × 16 = ___ ___ × 14 = 322
280 ÷ 20 = ___ 374 ÷ 22 = ___ 208 ÷ 13 = ___ 322 ÷ ___ = 14
___ ÷ 14 = 20 374 ÷ 17 = ___ 208 ÷ 16 = ___ 322 ÷ ___ = 23

10 × 18 = 180 11 × 15 = 165 10 × 23 = 230 19 × 22 = 418
___ × 10 = 180 15 × ___ = 165 ___ × 10 = 230 22 × 19 = ___
180 ÷ 18 = ___ 165 ÷ ___ = 11 230 ÷ ___ = 10 418 ÷ ___ = 19
180 ÷ 10 = ___ 165 ÷ ___ = 15 ___ ÷ 10 = 23 418 ÷ 19 = ___

23 × 24 = 552 12 × 15 = 180 19 × 24 = 456 19 × 22 = 418
___ × 23 = 552 15 × ___ = 180 24 × ___ = 456 22 × 19 = ___
552 ÷ ___ = 23 180 ÷ ___ = 12 456 ÷ 24 = ___ 418 ÷ 22 = ___
552 ÷ ___ = 24 180 ÷ 12 = ___ ___ ÷ 19 = 24 ___ ÷ 19 = 22
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Relations Inverses (H) Solutions
Remplissez les espaces blancs.

25 × 19 = 475 13 × 23 = 299 18 × 22 = 396 18 × 13 = 234
19 × _25_ = 475 _23_ × 13 = 299 22 × 18 = _396_ 13 × 18 = _234_
_475_ ÷ 19 = 25 _299_ ÷ 23 = 13 _396_ ÷ 22 = 18 234 ÷ 13 = _18_
475 ÷ _25_ = 19 299 ÷ _13_ = 23 396 ÷ _18_ = 22 234 ÷ _18_ = 13

17 × 22 = 374 25 × 15 = 375 12 × 20 = 240 25 × 25 = 625
_22_ × 17 = 374 _15_ × 25 = 375 20 × _12_ = 240 25 × _25_ = 625
374 ÷ 22 = _17_ 375 ÷ _15_ = 25 240 ÷ 20 = _12_ 625 ÷ _25_ = 25
374 ÷ _17_ = 22 375 ÷ 25 = _15_ 240 ÷ _12_ = 20 _625_ ÷ 25 = 25

14 × 20 = 280 17 × 22 = 374 16 × 13 = 208 14 × 23 = 322
20 × 14 = _280_ 22 × _17_ = 374 13 × 16 = _208_ _23_ × 14 = 322
280 ÷ 20 = _14_ 374 ÷ 22 = _17_ 208 ÷ 13 = _16_ 322 ÷ _23_ = 14
_280_ ÷ 14 = 20 374 ÷ 17 = _22_ 208 ÷ 16 = _13_ 322 ÷ _14_ = 23

10 × 18 = 180 11 × 15 = 165 10 × 23 = 230 19 × 22 = 418
_18_ × 10 = 180 15 × _11_ = 165 _23_ × 10 = 230 22 × 19 = _418_
180 ÷ 18 = _10_ 165 ÷ _15_ = 11 230 ÷ _23_ = 10 418 ÷ _22_ = 19
180 ÷ 10 = _18_ 165 ÷ _11_ = 15 _230_ ÷ 10 = 23 418 ÷ 19 = _22_

23 × 24 = 552 12 × 15 = 180 19 × 24 = 456 19 × 22 = 418
_24_ × 23 = 552 15 × _12_ = 180 24 × _19_ = 456 22 × 19 = _418_
552 ÷ _24_ = 23 180 ÷ _15_ = 12 456 ÷ 24 = _19_ 418 ÷ 22 = _19_
552 ÷ _23_ = 24 180 ÷ 12 = _15_ _456_ ÷ 19 = 24 _418_ ÷ 19 = 22
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